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QUESTION 1

Which of the following cloud delivery models presents the LEAST vulnerabilities to a company\\'s existing network?
A. Hybrid

B. Community

C. Public

D. Private

Correct Answer: D

QUESTION 2

Which of the following is a concern when migrating from a private cloud to a public cloud?
A. Storage

B. Limited visibility

C. Security

D. Performance

Correct Answer: C

QUESTION 3

An IT professional is considering the migration of an on-line store to the cloud due to high variation in demand. Which of
the following cloud characteristics is key?

A. Elasticity

B. Security

C. Scalability

D. Standardization

Correct Answer: A

QUESTION 4
Which of the following only uses Fibre Channel to implement a storage infrastructure?

A.NFS
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B. SAN

C. NAS
D. SMB

Correct Answer: B

QUESTION 5

Which of the following characteristics hosts several clients on a single physical platform?
A. Elasticity

B. Multi-tenancy

C. Cloud bursting

D. Resource pooling

Correct Answer: B
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